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Instructions:

(i)  This question paper contains three Parts : ‘A’, 'B' and 'C".
(i) Part'A’ is compulsory for all candidates.
(i) Candidates shall attempt only one part of the remaining Parts 'B' and 'C'.
(iv) All parts of a question should be attempted together.
(v) Marks for eagh question are indicated against it.
HA - ‘%’ (CrETene)

Part - 'A' (Accountancy)

1. P OR ey gl & qame e aRert o # srava & wnfie fear s e
2
Give any four important points which must be incorporated in a Partnership

Deed.

2. 39 HAl P gamC S WEER! ¥ e W & fie vd wbise el # g velfa @ # 2
State the items that usually appear on the debit and credit sides of partner's

current account,
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3. a3 3R gEifter siw & @ s 2P 2
What is the difference between equity share and preference share?
4. @A Rz sare e e 3w M & @ el & Juan e s w2 2

Give any two purposes for which amount of share premium received can be
utilised.

5. & ® o ¥ o fic F F v wad T 1,00,000 F 50 fHATl 3 10,000 TG YA
f5d T e 9 TR & fore el & o5 oo wfase & qiEE 100 YOS a1t 10%
FOTTA BT 10% & a8 W Fifia & fan mem| v § § T B T § Havge St
yfafieat ! 3
ABC Company purchased a building from Blue Print company for ¥ 1,00,000.
Payment was made ¥ 10,000 as cash and it was agreed that purchase
consideration be paid by issuing 10% debentures of ¥ 100 each at discount of
10% for balance amount. Give necessary journal entries in the books of ABC
company.

6. X UP B A UREER 2| T8 TS TR & 3 H T 200 IERVN WHY it 21 3D BH A
5 % 8000 &1 39 BF B 1 JOTE, 2016 B T 4000 T o1 @] T, SEROT AR AT W
TS B &R 5% Wiy 2| gﬁﬁg\wﬁiaﬁm R @ w5 Bl €| =t B Al B Mo
Il %g\@ 3
X is partner in a fir@?gle withdraws T 200 at the end of each month. His capital
in the firm is %@%QOO He gave a loan of ¥ 4,000 to the firm on 1% July, 2016.
Rate of interest on capitals, drawings and loan is 5% per annum. Books are

closed on 315" December each year. Calculate the amount of interest.

7. & 3R YT qHE O Sl g WRER &1 3 e @ o & 1/4 ey & fore waw aq @)
Jrar 3= T 1500 @l & MfEem # 3 2 1000 Nirew 12 &t &1 BH S @t 9 S
% 8000 O ¥ & wefdia &1 JAswmaan gfafteat @il 4

Hema and Prema are partners sharing profits equally. They admit Seema for
1/4" share in profit. Seema pays T 1000 in cash for premium out of her
premium of goodwill ¥ 1500. Goodwill already appears in the books of the firm

at ¥ 8000. Give journal entries.
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8. Y Rifits 3 T 10 @ 3000 T 3% T e W e vl 5 il w e e
Roa ST & + T 2 e |, ¥ 3 37eA | 3R T 5 7o U 31 arer w1 Aie, S 800
st 1 R 2, 3 o 3R A e @ g T foa 81 31 3 3 B R0 %
fear T 3R 3 5% P W g Frffra fean man 1 v s @ g # STavds
s wfafedt Sifael 4
Y Limited issued 3,000 equity shares of ¥ 10 each at par. On these shares
payments are to be made as follows: X 2 on application, T 3 on allotment and ¥
5 on first and final call. Mohan, who is a holder of 800 shares, has not paid the
first and final call. Hence, his shares have been forfeited and have been reissued
at a discount of 5%. Pass the necessary Journal entries in the books of Y

Limited.

9. 3rael RRRE ¥ 1 7R, 2016 B T 1000 A 2000 FOA T 50 9t FOH B BNeA W
R foul &R T ST < 200 SREA W, ¥ 400 HECT IR 3R 99 5 3R St Arer
w P T ol A iR @ gl § anagas s et sl 4
On 1 January, 2016, Akash Limited issued 2000 debentures of ¥ 1,000 each at
a discount of T 50 per debe@re The amount was to be paid ¥ 200 on application,
¥ 400 on allotment ané:ﬁ’ue balance on first and final call. Pass the necessary

Journal entries in t@ ooks of Akash Limited.

10. ﬁmﬁﬁﬁﬂm@aézmzas%umuam@ﬁﬁaﬁza%aﬁmﬁaﬁwﬁ

GG e - 4
g

(i) a¥ 2012 ® O T 15,000

(i) o€ 2011 & 3+ H & T 2,000

(i) 31 R=waR, 2011 @ AW & M@ T 1,000

(iv) 31 RemR, 2012 @1 3R # T o< 3,000

(v) 31 f&ameR, 2012 @Y 36T o= 5,000

From the following particulars calculate the amount of subscription to be
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credited to Income and expenditure account for the year 2012:

3
(i) Subscriptions Received during year 2012 15,000
(i) Subscription Outstanding at the end of year 2011 2,000

(i) Subscription Received in advance on 31 December, 2011 1,000
(iv) Subscription Received in advance on 31 December, 2012 3,000

(v) Subscription Outstanding on 31 December, 2012 5,000

11. Fr=foRea & foe Jsemmn sfafedt afswe - 4
(i) %100 ¥ W X 1,00,000 & 6% FOAT 1 Fed W Fofo 3R wee R Al
(i) T 100 ¥Ad W ¥ 1,00,000 & 6% FOWA B 5% & R i 3k 5% Nrm &

T A |

Give the Journal entries for the following :

(i) Issue of ¥ 1,00,000, 6% debentures of ¥ 100 each at par and redeemable
at par.

(i) Issue of ¥ 1,00,000, 6% debentures of ¥ 100 each at discount of 5% but
redeemable at premium of 5%.

12, Fafefea faavor 9 31 awR, 2016 & g 29 aret o & R smm g2 shem @ daR

B - \@@ 6
3 : &6
W%%UEH?GD{@’EWM@W?SOD,WE%@W?EGOU,W
% 200. @$

¥ 2015 & fofe T=aT 91a. 24000, @ 2016 & forw =wa1 wIedt T 25,000, F§ 2017 & forw o
qIE T 600.

Qﬁ?;F'-l"

ae ¥ 6000, AR T 1000, BT BF TIFRY X 500, ¥ 09 @ 2 1000, farge T 400, Rifder
% 200, a9 &1 FA0T T 50,000, 3/@ER ¥ 1000,
B A T APT : 1 AN, 2016, T 1000

31 femeR, 2016 ¥ 33,200

(i) a¥2016 % forw ¥ 1200 &7 w1 agE A 2|

(i) 37ET g : TG T 100 GUT SIS T 400
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From the following informations, prepare a Receipts and Payments Account for
the year ended on 31% December 2016:

Receipts :

Donation for building ¥ 60,000; Sale of old newspapers % 500; fees for coaching
¥ 2000; Sundries ¥ 200.

Subscriptions realised for 2015 ¥ 4,000; Subscriptions realised for 2016
T 25,000; Subscriptions realised for 2017 ¥ 600.

Payments :

Salaries ¥ 6000; Repairs ¥ 1,000; Printing and Stationary ¥ 500; Rates & Taxes
¥ 1,000; Electricity ¥ 400; Sundries ¥ 200; Construction of Building ¥ 50,000;
Newspaper ¥ 1000

Cash in Hand:

1st January, 2016 ¥ 1000

31st December, 2016 ¥ 33,200

Other Informations:

(i) Subscription to be realised for 2016 ¥ 1200.

(i) Outstanding Expenses: Repairs ¥ 100.and Printing ¥ 400.

13. 1 FHa<Y, 2015 @ 3, aaﬂiﬂﬁ\@s}mﬂﬁm % 10,000, ¥ 6000 3R ¥ 4000 F Y37t &
T e R émﬁwa@éﬁaﬂ 3 2% S # Rfa & W wewa gel af 2015
%ﬁa‘hﬁﬁéssqwa\@fzooo §- ¥ 1,500 31k |- T 1,500 | & 3 T 1200 o g
mﬁaﬂﬁarmﬁla@§l ot 3R STER0r W 15 6% Wieray Bt &X I T 71 8| IRRD
el & TG A qd 31 {2015 @ TEIE 8 a1 af &1 &1 T 9,200
@Y e B RS e & e 6
On January, 2015A, B and C entered into partnership with capitals of ¥ 10,000;
¥ 6,000 and T 4,000 respectively. They agreed to share Profits and Losses in
the ratio of 5:3:2. During 2015 their drawings were: A - ¥ 2000; B - ¥ 1500 and
C - % 1500. C is entitled to receive a salary of ¥ 1,200 per annum. Interest on
capitals and drawings is provided at the rate of 6% per annum. Before adjusting

the above items, the profits for the year ended December 31, 2015 was
¥ 9,200. Prepare Profit and Loss Appropriation Account.

31 (OR)
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(@) ﬂ%ﬁnﬁ%awmmﬁmﬂﬁme}sﬁamﬁaﬁu = ~asm§qraﬁa|aﬁ
almﬁuﬁwﬁw-gﬁaﬁs:zwﬁmﬁmaﬂﬁvﬁml - fassr
U # UREd & BROT YRS B ATH-91T 3r0aT I BT SR I el 3

(@ P, Q3R R E ®H A IR & I fieer ar auf & 3ia @ & aR W) 99 asf
& Y Yed W =T @l Giem &1 Fora foran| freer ar asf & o o voR 2 -

ay g
I 20,000
I 5,000 (1)
Im 10,000
Y, 3,000
@ifa @ 0T ST 3

(a) Rohit, Mohit and Gopal were partners in a firm, sharing profits-losses in the

. 1. 1.1 _ . . .
ratio 3 : 5 : 3 - They decided to share future profits-losses in the ratio of

3:2: 1, Find each par{ner's gain or sacrifice due to change in the ratio.
O
6\
(b) P,QandR are p\a@{érs in‘a firm. They decides to raise Goodwill Account on

the basis of@ee years' purchase of average profits of last four years. The

profit of last four years are as follows -

Year 4
I 20,000
jif 5,000 (Loss)
m 10,000
v 3,000

Calculate goodwill.
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14. UP O i SR 3 5000 FHAT 379 T 10 Wi 379 @Y X T 2 Wiy sier Nmm w
frifia {51 39 W PR oRifd & @i

e W ¥ 2 yf 3w

e R % 5 ufer 3w ( T 2 Nfygw afga)
Y grael ) T 2 yid 37

fecirr vg arf~em e ) ¥ 3 ufy aie)

SH! BT 6500 37T & o7 3maeT oIt gel 500 3 & smde PR {6 1| 9w srdeat
@ AU Hae fosar mal v 500 37T & SRrERY 3 A ar @ e T8 e
ma:mﬁﬁeﬁaﬁaaaw%mwma%&nﬁsﬂaﬁaﬁ?wﬁrmaﬁaﬁgqﬁﬁa
fsan mam se wfafeat 3w 6

A limited company issued 5000 equity shares of ¥ 10 per share at premium ¥ 2

per share. The amount will t{&due on these as follows-

K\Q
on application &5 ¥ 2 per share
O
on allotment $§ < 5 per share (including premium ¥ 2)
N)
on first call X 2 per share

on second and final call ¥ 3 per share.

Company received applications for 6500 shares. Application for 500 shares
were rejected. Pro-rata allotment were made for remaining applicants. A share-
holder of 500 shares has not paid the final call. So his shares were forfeited.

Forfeited shares were reissued @ ¥ 7 per share. Give journal entries.
Jraar (OR)
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v & & fifide 7 T 100 91 10,000, 6% FoTqEt & FR! fbanl &= == 7R 2T -

AT || ¥ 20 vfa ooz
ded | ¥ 50 ufd oA
U IeET ©) T 15 Uig FoA

e vd v g W % 15 ufq Horgs

12,000 FOTAT B e W g2l 2,000 FUAT & SGEH B e AR T P WA
X, 3 100 UG &1 3aed o1, ¥ 3dcH P T I ey @ It =y @ & ik
Y, 3 200 FOTGAT FT FOTGFLMY o1, AFAT AT A A 3B &
v & < fufiRs o g 3 s vfefear afsel 6
ABC Limited issued 10,000, 6% debentures @ 100 each.

The amount was payable as follows :

on application 320 per debenture
K\Q
on allotment ‘&\% ¥ 50 per debenture

N
on first call §§ 715 per debenture

on second and final call- ¥ 15 per debenture

12,000 application for debentures were received. Application money returned
to applicants of 2,000 debentures. X, applicant of 100 debentures, paid the
entire amount on his holdings on allotment and Y, the debentureholder of 200
debentures failed to pay final call.

Give the journal entries in the books of ABC Limited.
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15. 31 9T, 2016 @t A 3R B @& Ffafaa snfie fugr or, s el aor afyat @ 2/3 qor

1/3 & U H dicd & :
AT gRIfeT (2) | oeafo R (%)
PEIRCI I RCE 25,000
A 15,000 o= 3R 7Ry 17,500
B 10,000 25,000 | wid 10,850
fafger aeR 32,950 | fafger derR 4,000
8% § A3 600
57,950 57,950

3RM C @ 1 3d, 2016 ¥ Fifea It ) | § 139 &8 ) gl &

(37) C &l a9 1/3 ez faam smem o a8 31 it & fore T 7,500 o @y & sivr
& fowe ¥ 3000 e

(@) Wi a9 T T8 FARI S ToT ¥ 5% DI D e 2
(@) fafaw SRt w wfafa & e 12.5% &1 9o o= B
) WEE W 10% & F F T 2

(@) i @ R R ARERT & gRT e 7Y 2

T B @ g ¥ s W e w0 e @ s Rz ael 8
| S
The following was t alance Sheet of A and B on 31st March, 2016 who share
D
profits and Iosse@m the ratio of 2/3 and 1/3:
Liabilities Amount ¥ Assets Amount ¥
Capital A/cs: T Building 25,000
Plant & Machinery 17,500
A 15,000
B 10,000 25,000 Stock 10,850
Sundry creditors 32,950 Sundry Debtors 4,000
Cash at Bank 600
57,950 57,950
432 (102) [9] [P.T.O.
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They agreed to admit C into partnership on the following terms on 1st April,
2016:
(a) Cisto be given 1/3 share in profits and is to bring ¥ 7500 as his capital and
¥ 3000 as his share of goodwill.
(b) The value of Stock and Plant & Machinery is to be reduced by 5%.
(c) A Reserve of 12.5% is to be created in respect of Sundry Debtors.
(d) The building is to be depreciated by 10%.
(e) The Goodwill is to be withdrawn by the old partners.
Open necessary accounts in the books of the new firm and prepare Balance
Sheet of the New firm.
3@ (OR)
A, B 3R C o6 w1 % WeRR & 3k et sl afdh @) iR srqure # aed #1 3R
31 A1d, 2016 @ BH & fowe a1 59 aRaE @ 59 o &1 fugr Fr=itea o -

aTraed “@ﬂﬁT (). | Tt RN (3)
GECARS ‘§§: - 60,000 | i Fwft 1,00,000
ot - 3 ®$Q\Q e Tyt 40,000
A 30,000 DS 10,000
B 30,000
C 30,000 90,000
1,50,000 1,50,000

Wi $ b R Hed ¥ 10% B IGE §el SRR S [T A Rba | wHIe
4 3 500 2, {5t Tdt § e fsan man ww e e R, Bt st §
PSR T8l oY, % 500 YA e M 3avas @R R 8
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A, B and C are partners in a firm and share profits and losses equally. They

dissolved the firm on 31st March, 2016. On this date the Balance Sheet was as

under:
Liabilities Amount Assets Amount
L4 T
Creditors 60,000 Fixed Assets 1,00,000
Capital : ¥ Current Assets 40,000
Cash 10,000
A 30,000
B 30,000
C 30,000 90,000
1,50,000 1,50,000

10% less than book value from assets was realised. Creditors were paid in full.
Dissolution expenses amounted to ¥ 500 which were paid in cash. An amount of
¥ 500 was paid for con@ﬁ%nt liabilities for which no provision was made in the
books of account%\@epare necessary Accounts.

R R S

Part - 'B' (Analysis of Financial Statements)

16. I3 TaE ool & o1E & I FarRe| 2
Explain any two uses of Cash Flow statement.

17. forirg faazor & anf sase 2
Give the meaning of Financial statement.

18, T=ifdsa srgumel & o g forRge: 3
(i) ZOT-THaT 3T
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(ii) PeT AN U
(iii) T AT
Write formula of calculating the following Ratios:
(i) Debt Equity Ratio
(i) Gross Profit Ratio
(i) Proprietory Ratio
19. foxiia srpurt & @1 S o @ wEeEe
Explain any three advantages of Financial Ratios.

20. X feifis ot mrdeha G & Rufy freifee 2

T, e 2 TS, Feafat z
B 28,000
GEARS 24,500 G AR 17,500
d® oy 10,500 L4555 3,500
35,000 49,000

(i) Gy 3 ea

(ii) mmgmaa%vﬁgk\%%u

The working caplta\ sition of X Limited is as under:

Current Llabmt@ 3 Current Assets T
Stock 28,000
Creditors 24,500 Debtors 17,500
Bank overdraft 10,500 Cash 3,500
35,000 49,000

Calculate

(i) Current Ratio and

(ii) Liquid Ratio.
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21. P B o facirg Rfa 31 A, 2013 vd 2014 & Foeaq o - 6
I od @i | 81.03.2013 | 31.3.2014 | wwfadl | 31.3.2013 | 31.3.2014
2 2 ? 3
T, A 36,000 41,000 BRI 1,07,000 | 1,22,000
T | e 20,000 UTHl g| 27,000 36,000
4@ =0T 30,000 25,000 80,000 86,000
gan v wag 1,48,000 | 1,49,000 WG 50,000 55,000
qfy 20,000 30,000
B 25,000 22 000
R 35,000 38,400
R 4,000 3,600
2,14,000 | 2,35,000 2,14,000 | 2,35,000

a4 & R T 26,000 ATHIN & T H YT fou T
Jag yare faavor dar el

The financial position of a firm as on 31st March, 2013 and 2014 was as under:

Capital and 31.3.2013 | 31.3.2014| Assets 31.3.2013 | 31.3.2014

Liabilities \Q\d& 4 T 4

Current Liabilities 36% 41,000 | Machinery | 1,07,000 1,22,000

Loan \@Q\Q — 20,000 | Less: Dep. 27,000 36,000

Bank Loan <§30,000 25,000 80,000 86,000
Capital and

Reserves 1,48,000 | 1,49,000 | Building 50,000 55,000

Land 20,000 30,000

Stock 25,000 22,000

Debtors 35,000 38,400

Cash 4,000 3,600

214,000 | 2,35,000 2,14,000 | 2,35,000

During the year ¥ 26000 were paid as dividends. Prepare Cash Flow Statement.

432 (10Z)

[13]

[ P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

T - 7 (3Rsfera o)

Part - 'C' (Computerised Accounting)

16. et wd oo & Wt @ anEED) 2
Explain the relationship between Tally and Accounting.
17. or@iea # gl & @ sudh & 2
What is the use of worksheet in Accounting?
18. va¥eT # B W B% & B 99 eeer A 3
Give any three examples of entering formula in Excel,
19, S.F..09. & B a7 o gaIT| 3
Give any three advantages of D.B.M.S.
20. v # U &9 & g aisar 22 gweEy) 3
What is the process of creating chart in EXCEL? Explain.
21. (&) Faifea W%mwwﬁmﬁmﬁmmaaﬁmﬁﬁmﬂz%
1%|%§E: g&\g’& 4
T B wﬁr\é&\% % 8000
0T Bl ma%@Q 4 g
e foseat @t emRifer % 200
fowat & s 48
(a) Write Spread sheet formula to find out monthly and annual rate of interest
on the basis of the following informations:
Loan Amount < 8000
Term of Loan 4 years
Amount of monthly Instalments T 200
Number of Instalments 48
432 (10Z) [14 ]
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(T) 'PMT' BaRM B TRV Wigd THET

(b) Explain 'PMT' function with example,

* %k kK k
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